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Step 1: x-intercept = (8, O) and y-intercept = (O, 4)

Step 2:
Answer: y
A
| \ P
- W Vi
Y
-2

Step1l: y = —4x + 11
Step 2:

A7

Answer: y =

[Continued on Next Page ....]



20.

21.

22,

23.

24,

Step 3:

0 33 3 T8
Y
-3
y:Tx+8
_ 10 6
Y= XT3

N

2
Step 1: y=-—3x+%

2
Step2:y2—§x+6

|
—_
1N

Stepl:y:1—0x+

W

Step2: y = 10x — 67

Step1: y =

| w
>
|
| w

-5 1
StepZ:yZTX—g

Step 3: Yes

Answer: y =




25.

AY
-l h.x
"k
26. Step 1:
AY
r: -
. _kx
\ -
Step 2:
AY
=

[Continued on Next Page ....]



Step 3:
A) the union of the individual solution sets

\"‘\\ B) the intersection of the individual solution sets
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